BT % AI<A&HY A O (R3.3.31IF7E)

X BT % £ AOH(A) S HEH (1) Y
R F AT 508 245 A1
B ILIET 332 168 26
E5RI1TH 257 147 14
E5RI2TH 371 177 44
E5HEI3TH 344 212 57
E5R14 T H 592 276 33
fitBT2TH 189 112 12
=T RHE 372 228 19
B R |EXEmM1TH 158 77 9
ST HRET2TH 286 221 12
ARET1TH 331 192 6
ARET2T B 72 40 12
$2MT1TH 279 162 3
$2mT2TH 618 344 43
$§¥BISTH 980 522 4
ZAHHET 82 54 20
B/HE1TH 390 194 18
Hi 6,161 3,371 373
EXHR1TH 107 59 5
EXHR2TH 232 128 6
EXHRI3TH 549 263 49
EXHR4TH 576 266 18
KEHET 1,230 494 56
RG FOET 537 258 7
FHEET 172 98 2
Bl & |(HEHET 90 60 9
SERSSEHET 141 79 10
#H B ET 184 119 23
rq H i BT 102 57 15
BHT 689 360 12
FRAE BT 0 0 0
5 HH BT 592 271 20
#ET1TH 183 107 14
e 5,384 2,619 246
JNERT1TH 283 175 9
JNERI2TH 62 33 0
ZEHT 79 41 0
15y 109 56 0
RIGHT 109 62 0
KT HT 104 66 0
Ealr 75 42 0
REET1TH 93 50 12
REET2TH 794 410 46
5 ig FE HHAT 1,076 488 72
B b ) 764 346 13
B A EHT 961 496 15
Fiy =10 146 96 28
Fh BT 179 102 0
BR AT 82 56 0
HES 56 36 2
A KHET 117 78 4
fREAT1TH 401 161 0
fREAT2TH 482 226 0
2 EEI3TH 260 110 0
= 6,232 3,130 201




BT % AI<A&HY A O (R3.3.31IF7E)

% - KA

AHEET3TH 247 133 38
AEEET4T B 286 175 17
ESHr 183 118 20
aEH 124 68 6
HT 104 51 8
X#HET1TH 93 61 5
X##ET2TH 56 43 0
N ET 287 178 5
SIRT1TH 108 60 12
SIET2TH 99 70 7
SIRI3TH 173 93 10
E A [iIH4TH 151 75 12
HET1TH 128 76 7
HHBT2TH 362 206 38
SHBI3TH 294 168 28
1t = HT 330 168 45
FHHET 198 103 0
= [ERT 110 51 5
EHHT 302 143 10
=XN1TH 428 210 14
=XR#2TH 580 289 41
=XR#3TH 529 255 36
=AMATH 396 195 11
T 5,568 2,989 375
A o 11 11 0
EyIB1TH 1,136 546 29
By 2T H 803 408 0
E4 3T H 713 344 32
By 54T H 968 444 45
E4 5T B 551 246 18
B4y 56TH 875 473 19
EyB7TH 718 391 17
E4 8T H 510 235 4
£ & |[E~¥BO9TH 1,040 462 19
FEB1TH 333 152 29
+FEE2TH 520 250 17
L#&#HITH 479 287 19
FEEATH 617 246 8
L#&#ESTH 547 276 A1
L6 TH 785 327 16
FEB7TH 300 143 6
L#&#%8TH 147 80 9
EBE 1,785 830 45
= 12,838 6,151 373
HE1TH 194 90 19
HE2TH 591 262 103
HE3TH 523 213 27
HE4TH 518 231 15
HESTH 481 210 44
HEG6TH 273 123 28
HE7TH 168 69 4
HEF 174 71 18
H E |9E1TH 566 273 43
FE2TH 677 303 98




BT % AI<A&HY A O (R3.3.31IF7E)

% BT % £ AOH(A) S HEH (1) Y
SFHE1TH 719 261 4
SFHE2TH 524 192 0
EFHEISTH 649 250 0
SFHE4TH 415 184 0
EFHEISTH 396 160 0

HE®mI1TH 392 189 11
HEEF2TH 64 27 7
- = 7,324 3,108 421

m o =4 9,334 4,425 943

o] U 4,566 2,038 376
& 13,900 6,463 1,319
LR 1,383 530 46
FEE1TH 186 85 17
FEE2TH 730 344 13
LfEIR3TH 1,048 513 19
+FEEATH 233 119 11
LfEIR5TH 552 272 31
+FEE6TH 608 307 31
+FEE7TH 573 274 20
EE1TH 178 76 13
EBE2TH 47 39 0
B/ & [BE4%ESTH 794 358 5
EBE4TH 339 160 1
EB4ES5TH 1,333 650 13
EE6TH 371 176 19
EEHFEHITH 305 185 24
EEFHH2TH 768 401 0
EBEEHHEITH 857 386 8
BEHER1TH 677 362 19
EERR2TH 803 402 8
E4RRITH 152 99 6
B4 ERA4TH 549 372 12
Hi 12,486 6,110 316
BEE1TH 336 177 12
BEE2TH 369 202 55
HRE3TH 371 188 24
BEE4TH 666 305 33
BBESTH 615 280 47
HEE6TH 767 332 30
BRE7TH 984 445 77
HBES8TH 1,030 489 98
it 49 31 0
FAEE1TH 214 93 13
FAEE2T B 270 140 31
FA{ERE3TH 597 270 8
FA{EE4TH 747 340 49
FA{EES T B 744 336 10
FA{R/E6T B 944 464 78
FAEE7TH 932 422 51
FA{R/E8 T H 1,284 595 106
f& K |AEERROTH 1,018 444 61
KR 180 81 10
KE1TH 1,034 515 28
¥E2TH 317 156 13




BT % AI<A&HY A O (R3.3.31IF7E)

X BT % £ AOH(A) S HEH (1) Y
KE3TH 511 240 6
XE4TH 615 287 17
KESTH 261 131 11
XE6TH 683 317 14
XIE7TH 749 391 92
KESTH 1,169 546 36
K[EOTH 258 119 31
$B1TH 563 338 8
$B2TH 914 398 36
¥BSTH 396 187 47
B4 TH 361 183 24
HBSTH 586 214 2
$B6 TH 657 328 55
HE7TH 1,068 468 7

E 22,259 10,452 1,220

2 2,048 871 115

AFE [J\iE 406 169 12
Bl 483 192 15

E 2,937 1,232 142

N 345 145 23

) 144 48 18

TE= 82 28 0

. EA 165 64 14
= |BIER 127 56 4
EIR 639 273 24

Rz 77 29 0

kT 2,509 1,207 0

B 4,088 1,850 83

a5 879 444 38

BA 579 231 30

= 560 283 75

EE 622 276 51

= |HE 362 142 29
R s 279 125 27
=E 319 154 14

=R 225 116 22

il 118 50 23

o] 194 82 7

E 4,137 1,903 316

E & |[EARR 4,558 1,962 511
B 4558 1,962 511

& 2 K 2,031 936 325
R =) 763 326 195
E 2,794 1,262 520

KR | KERE 1,947 864 305
B 1,947 864 305

1 H [fIHE 2458 1,134 588
e 2,458 1,134 588




BT % AI<A&HY A O (R3.3.31IF7E)

X BT % £ AOH(A) S HEH (1) an e
E T |EH 4,997 2,083 726
= 4,997 2,083 726
® R |KEH 4,677 2,050 1,006
e 4677 2,050 1,006
= 1,320 489 168
SEZR 372 150 18
” N 466 230 31
HESE 473 204 59
HE 279 111 32
| 25 [iF] 480 213 40
= 3,390 1,397 348
— & 243 142 15
L FREN 194 81 4
wHF 204 81 40
= g T #ED 333 124 35
oE=2F 692 262 64
=25 146 54 12
B/\IE 219 93 29
Kk 71 29 1
E 2,102 866 200
ES 2,225 922 224
fE AR 325 147 26
= 410 172 23
40 210 86 8
fa il BHF 343 133 56
AN 119 48 13
2h 774 342 152
;0] [if] 2,454 937 162
B 6,860 2,787 664
TR S E 652 244 36
ST T 1,496 656 129
e L BT PR 1,633 598 87
e L BT #= 184 73 4
IR S 214 72 21
RIS HS 95 30 6
SEIRTh AR 123 42 7
s ST EILHTARE 76 29 1
S RIREER 114 41 5
IR EE 88 29 6
EIIETEH 49 14 5
I LET{EEE 88 39 0
e ST BT S [ 102 33 15
e LBT{ERE 3,579 1,569 135
e L HT B 573 244 19
e T BT /0N 617 251 26
& 9,583 3,964 502
¥ort | 146,680| 67,747] 10,755]




